4 3 < 2 1

MODELS 27 GA SHORT 27 GA FLUSH 27 GA LDNG SHEET! REVISIONS
CLOPAY 4300, HDG 4301, HDGF 4310, HDGL 1 OF 3 [REV. NO.| ZONE: | DATE: | ECN NO.[APPVD: DESCRIPTION
- - T ;
HOLMES 66, 666, 6200 o8, 6201 7. 676, 6203 05 11/25/20 SH UPDATED TITLE BLOCK AND ADDED COMPLIANCE STATEMENT.
IDEAL SP200 SF200 SE200 Si;logﬁkzﬁv%ws?zi '“I"spﬁg:f/‘zzslslm‘fzncuz'NG‘ IMPACT—RESISTANT CONSTRUCTION:
GLAZING IS INJECTION MOLDED GE LEXAN SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
(1) 20 GA. BACKER PLATE BETWEEN EACH SLX2432T, AN APPROVED CC2 PLASTIC IN IMPACT—RESISTANT. OPTIONAL MAX WINDOW SIZE 19—1/2"X12” INJECTION—MOLDED D
EMBOSS LOCATION THAT CONTAINS A CENTER ACCORDANCE WITH IBC/FBC 2606 POLYCARBONATE FRONT FRAME AND GLAZING IS GE LEXAN SLX2432T, AN APPROVED CC2
HINGE. ATTACHED WITH DOUBLE SIDED SEE SECTION B—B FOR ASSEMBLY DETAILS PLASTIC IN ACCORDANCE WITH IBC/FBC 2606.
ACRYLIC ADHESIVE TO BACK OF DOOR. — A CLAZING i THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
8 (GLAZING SHOWN IN INTERMEDIATE SECTION.) WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
U - . STRUT AND TOP BRACKET CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
' ARRANGEMENT WITH STANDARD
/4 /4 4
/ // / // / // Af % % // % // ?/ % % // ENDSTILE AND TOP SECTION SOLID STRUT AND TOP BRACKET ARRANGEMENT WITH
T OR GLAZED (SHOWN). / STANDARD ENDSTILE AND LITES IN TOP SECTION.
sy 16 GA. DOUBLE END STILES. / — —
ey e —e—— S — V——— —— MAY BE NOTCHED FOR LITES. 7
[ it () ittt (1 1) ittt () o st (1 () it () w1 ) ittty () i 4
‘ o 1l n TRl 4 / / / / V/ / /
) © 4 0! il 1 1y | |: :r |= 1 ||| II /;% / // // // /// //// / // //// / //
& 1] | / \_l
=l U e . . e ——— ! ,
=T C i — = ngulegulepulgeiig ey et ———mmemy | o= ———— = pr————— e M i — p——" S PPN b e T T——— ] Ty (] J——————————T Y by IR I ity X
To it e NITF Y0 Yoo [ P T = \—WEW B" (SEE SHEET TWO). === 1 I == T " T~
- i 1 1 o i [T 1y fn Inon —— VIEW "C" (SEE SHEET TWO) inn ] 11l 1 o fn Inol
OI T | | 1] {1 | | (A1 | 1] 11 i i | | | I | 1] 11 . 1! I
5% ' C
HhS VU |H———— re—— e v
. =T """ hr-———" T - S eyl SESIS e RS ooz e ol rpiioplepe et e e
$x P 1 T 1 O 8 2 O | s 1 s A I ®
=5 7 [ 1 ] [ il | 1| \ g 1|l [ 1 {1 [ (1N {
U TWO POINT LOCKING
T M e —————————— . INTO TRACK.
B iT- f =" T "7 -] TS U—BAR.
T ~——T—STRUT. "
|_ (1) 3—IN ROLLER CARRIER (P/N
-—=A \_0120394) USED WITH 3" TRACK.
MAX. DOOR WIDTH = 18'-2" ATTACH WITH (3) 1/4"x3/4" SELF SNAP LATCH ENGAGES END
INSIDE_ELEVATIONS TAPPING SCREWS. ONTO VERTICAL TRACK. Sl
DOOR HEIGHT # OF ONE SNAP LATCH ON
SECTIONS EACH SIDE OF DOOR.
UP 1O 7°0° 4 SLIDE BOLT LOCK
7'3° 10 89" 5 END S Sl B
VERTICAL TRACK.
90° 70O 106" 6 SECTION B—B (IMPACT—RESISTANT GLAZING OPTION) STILE. ONE LOCK ON SX;%'LDEF T
12'6* 10 14°0* 8 : DOOR ; END
14'3" 10 15’9 9 HANDLE. ' EACH SIDE
16°0 10 OF DOOR.
MAX SECTIDON HEIGHT: 21” INSIDE_SLIDE BO INSIDE HANDLE
4 OCK_OPTION. U K WIT K TH
OPTIONAL DECORATIVE 25— \ MULTIPURPOSE HIGH BOND TAPE SNAP LATCH LOCK OPTION. K _BAR_LOCKING.
SNAP—IN_ INSERT. _r~ (BETWEEN FRAME AND FACADE).
__,,j/r DECORATIVE FRONT FACADE.
0-1BBJ_ = A THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC. MANUFACTURING PRODUCT CODE
A / STRUCTURAL SILICONE SEALANT DSIE_1F171
! (PENEER [STEEL SN AN RAHES DESIGN LOADS: +46.0 P.S.F. & —50.0 P.S.F
o L ,/’/ TEST LOADS: +69.0 P.SF. & —750 P.S.F. PART NO.: N/A A
O g‘l\TQC;IE%EESIISJ\?EgTION - Unless Stated Otherwise - ulnpa 3585 Dgi"(le'%gg‘li‘il)wl?srg WINDLDAD RATING
) iy POLYSTYRENE RETAINER FASTENED TO FRAME WITH TOLERANCES ore |\l '\’ ason,
- MOLDED GE LEXAN " Tel. No. 513-770~4800
: - Soa o FRLOENT (10) #8 x 3/4" PAN HEAD MACHINE SCREWS. 0 +031 |CORPORATIO B Mo B 4853 \/\/ 8 D P 4 6
// Zf 2() FREHERS SCEAZINCE 638 = :-ggg DESCRIPTION: 2" EPS INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
DESIGN EENGINEE S 0000 = +.001 |DRAWN BY: SH DATE: 11/8/12 |SCALE: NTS DWG.
MARK WESTE = Degrees = *1/2° |CHECKED BY: SH DATE: 11/9/12 |SHEET 1 OF 3 [SIZE
. RFIELD, -P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104752 VER: TDI

4 | 3 5 . 1



4 3 v 2 1

MODELS 27 GA SHORT 27 GA FLUSH 27 GA LONG SHEET REVISIONS

CLOPAY 4300, HDG 4301, HDGF 4310, HDGL 2 OF 3 [REV. NO.| ZONE: | DATE: | ECN NO.[APPVD: DESCRIPTION
HOLMES 66, 66G, 6200 68, 6201 67, 67G, 6203 05 = = - = SEE REVISION HISTORY ON SHEET ONE.
IDEAL SP200 SF200 SE200

SILICONE FILLED CHANNEL SEPARATES
FRONT AND BACK SKIN OF DOOR. D

TOP_SECTION WITH LITES: (2) 18 GA. GALV.
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING 1.95" THICK, 14 DENSITY STEEL TOP ROLLER BRACKETS (2-7/16" x
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: EXPANDED POLYSTYRENE FOAM 3-3/4"). EACH BRACKET ATTACHED W/(4)
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 = #14x5/8" SHEET METAL SCREWS.
INSULATION LAMINATED TO BOTH
] SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE EXTERIOR AND INTERIOR SKINS SOLID TOP SECTION: (2) 12 GA. GALV. STEEL
SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE. ' TOP ROLLER BRACKETS (2-1/2" x 5-3/8") I
ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE EACH BRACKET ATTACHED W/(4) #14x5/8" .
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE SHEET METAL SCREWS. ADJUSTABLE SLIbE
MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. ATTACHED TO TOP BRACKET WITH (2)
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING g 1/4"x1/2" BOLTS AND NUTS PER BRACKET
%Régﬁggg}((gggg SFEMNG MEMBERS), A 2X6 SOUTHERN YELLOW PINE {20 X :
BE INSTALLED THE WALLBOARD FRAMING THE i
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, | ST 27 GA. (0.016" MIN.) INTERIOR STEEL SKIN
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED (DRAWING QUALITY) WITH G—40 MIN. GALV.,
LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE BAKED—ON PRIMER AND A BAKED—ON C
PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS b POLYESTER PAINTED TOP COAT APPLIED TO
OF THE SUPPORTING STRUCTURE. BOTH SIDES OF STEEL SKIN.
i

14 GA. GALV. ROLLER HINGE. EACH HINGE
FASTENED TO END STILES WITH (4) #14x5/8"
SHEET METAL AND (2) 1/4"x3/4" SELF
TAPPING SCREWS. SEE VIEW "B”.

3” TALL X 20 GA. GALV. STEEL U—BARS. 1‘__
ONE U—BAR AT THE TOP OF EACH SECTION.
ATTACH WITH TWO 1/4"x3/4" SELF TAPPING
SCREWS PER HINGE.

I—rifa' FROM EDGE

VIEW "D"

4" TALL TAPER STRUT.
MIN. 0.062" GALV. STEEL,
MIN. 80 KSI.

% ¥

» AN

1/4"x3/4" SELF
TAPPING SCREWS.

ONE 4" T—STRUT PER SECTION (SEE VIEW

14 GA. END HINGES 18 GA. (MIN.) INTERMEDIATE HINGE "D"). EACH T—STRUT ATTACHED AT EACH
VIEW "B” VIEW "C” HINGE LOCATION WITH (2) 1/4"x3/4" SELF
y TAPPING SCREWS. 5
| R
27 GA (0.016" MIN.) EXTERIOR STEEL
SKIN WITH G—40 MIN. GALV. BAKED—ON
VERTICA AME_BUILDINGS): POLYESTER PAINTED TOP COAT APPLIED
3/8"x3” LAG SCREWS ON 17" CENTERS. 1-1/8" 0.D. WASHER REQUIRED. LAG SCREWS TO BOTH SIDES OF STEEL SKIN. 13 GA. GALV. STEEL BOTTOM BRACKET ATTACHED
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. WITH (2) #14x5/8" SHEET METAL SCREWS.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
TICA - | MIN. CON MN):
3/8"x3" SLEEVE ANCHOR BOLTS ON 10" CENTERS (2,000 PSI MIN. CONCRETE). -
wgsRHERs INCLUDED WITH SLEEVE ANCHORS. SECTION A—A (SIDE VIEW)
. 1/4’x3" TAPCON SCREWS ON 8" CENTERS (2,000 PSI MIN. CONCRETE) OR 5" CENTERS
. (C—90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING MANUFACTURING PRODUCT CODE
§yngCE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. DSIE-1F171
e DESIGN LOADS: +46.0 P.S.F. & —50.0 P.SF.
A TEST LOADS: +69.0 P.S.F. & —75.0 P.S.F. PART NO.: N/A A
f/ QUHER JAMB CONFIGURATIONS: REFER TO DASMA TDS-161. A LICENSED DESICN Unless Stated Otherwise | (D 8585 Duke Boulevard WINDLOAD RATING
't PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR TOLERANCES are -l}lﬂ QY  Voson O 4008 oo
JAMB CONFIGURATIONS. 10, Ho. 213-7/0-4000 \/\/ 8 D P 4 6
i 0= +031 |CORPORATION  Fox No. 513-770-4853
/) Z«j Zd & 688 = i-ggg DESCRIPTION: 2" EPS INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
TR CCTIN, 0000 = +.001 |DRAWN BY: SH DATE: 11/8/12 | SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = %1/2
MARK. WESTERFIELD, P.E 9 CHECKED BY: SH DATE: 11/9/12 |SHEET 2 OF 3 |SIZE
: ' Gl U Stated Otherwi
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 Dm?rfsmﬁseARE IN INGHES.| DWG. NO.: 104752 VER: TDI

4 | 3 L 2 1



4 3 < 2 1

MODELS 27 GA SHORT 27 GA FLUSH 27 GA LONG SHEET! REVISIONS
cLOPAY 4300, HDG 4301, HDGF 4310, HDGL 3 OF 3 [REv. NO.| ZONE: | DATE: | ECN NO.[APPVD: DESCRIPTION
HOLMES 66, 66G, 6200 68, 6201 67, 67G, 6203 2 — - - — SEE_REVISION HISTORY,_ON SHEFT_ORE.
IDEAL SP200 SF200 SE200
LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING .‘_
SCREWS.

NOTE: TRACK CONFIGURATION ABOVE THE

3" TRACK CONFIGURATION DOOR OPENING DOES NOT AFFECT THE
DOUBLE TRACK
(ALL_SIZES). WIND LOAD RATING OF THIS DOOR. AM NFI' RAT " MK

CENTER HANG REQUIRED FOR

DOORS OVER 8' HIGH.
DOUBLE HORIZONTAL
: TRACK.

1" DOOR OVERLAP (EACH SIDE) —

2x6 SYP WOOD JAMB. SEE STOP MOULDING BY DOOR INSTALLER (TO SUIT).

3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB ATTACHMENT" NOTES. summmmemsess 16 GA GALV. STEEL DOUBLE—END—STILE FASTENED WITH (1) #8 X 1/2" WAFER
THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK R0  SCREW. END STILE DIM.: 5-3/4 X 2-1 /a" X 3/8".
MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8". SUPPORT B(Y DOOR) Yo
= : INSTALLER (TO SUIT). -
c JUNCTION, TWO. 14" BOLTS. |— FROM LAST MOUNTING 3-1/4° x 2-7/8 MIN. x 0080° TAPERED
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION : CONFICURATION ON PAGE ONE 18 GA. GALV. STEEL CENTER HINGE
N -~ . %ég '\hlJDT ROUND FASTENED TO INTER. STILES W/(4) EACH
14x5/8" SHEET METAL SCREWS.
& ;"—\,\-f\ ADDITIONAL MOUNTING SLOTS FASTENER. #1458/
SPACED » )
8 i 12 CERTERS 0.101” THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
I . TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
= —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
5 46" NUT AT EACH MOUNTING SLOT.
z 3" DIA. 8—1/2" LONG STEM BALL BEARING STEEL ROLLER.
0 SECTION C—C MANUFACTURING PRODUCT CODE
| z 34" Mgﬁ.Nﬁ;GTRSA}% IIB_(O)I(_:TAT{\ON'\? NUT AT EACH PREPARATION OF JAMBS BY OTHERS. DSIE-1F171
ol ’ DESIGN LOADS: +46.0 P.S.F. & —50.0 P.S.F.
°© PART NO.: N/A
Y =T TVERTCAT TEST LOADS: +69.0 P.S.F. & —75.0 P.S.F. .
% Unless Stated Otherwise - 8585 Duke Boulevard WINDLOAD RATING
: HEIGHT [TRACK LENGTH
: EEoahs TOLERANCES o |um DalOp@Y o SR |\ ) O YDA
* 80" | 84" 0 = +.031 CORPORATION Fax No. 513-770-4853
- 9'—0" | 96~ ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 3 " 18'2" (SEE TABLE FOR MODELS
N 0,—0] 1087 DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 10", 22", 34", e DESCRIPTION: 2" EPS INS. DOORS TO 18'2" (SEE TABL )
S - , ﬁ.‘:. ;g.. 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16" 28", & 0000 = +.001 |DRAWN BY: SH DATE: 11/8/12 | SCALE: NTS DWG.
DESIGN ENGINEER:« o 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2° [CHECKED BY: SH DATE: 11/9/12 |SHEET 3 OF 3 [SIZE
MARK WESTERFIELD, P.E.- 4 . VERTICAL/HORIZONTAL TRACK JUNCTION. Unices o iateda oS d :
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104752 VER: TDI




